AT o freaT HEd, AU, AT
STAT Tehe LT aLieaT 2023

el T 97
o= sErrer
FeAT- 12T (Fe)
q9T - 3 5e qUTieh- 70 3
fAeer:-
(1) Tt 7 AR ¢ |

(2) T FHIH 1 |/ 5 TF aeq@S TT g | T 28 (T 5 |

(3) T FHTH 6 & 20 T ATATH [dhed [ T ¢ |

(4)TT T 6 | 13 Toh T T o Tord 2 37 (Aeiied g, o7sa |1 30 9053 & |
(5) T FHHIH 14 7 17 T To4F 7 6 ford 3 o [eiiia g | ez /T 75 9753 g
(6) =T TS 18 # forr 4 st MeTia g, arsx /AT 120 952 1 |

(7) 57 e 19 fasa & i qid & gwated g, 20 199 92 5 o Raiia g |
(8) T FHHTH 20 AT h A= It § TEATAT g, TH T 9T 5 oih MeiRa g |

Instruction : -

(1) All questions are compulsory.

(2) Question No. 1 to 5 are objective type. Questions Total 28 marks.

(3) Internal options are given in Question No. 6 to 20.

(4) Question No. 6 to 13 carry 2 marks and answer should be given in 30 words.

(5) Question No. 14 to 17 are assigned 3 marks each and answer should be given in 75
words.

(6) Question No. 18 are assigned 4 marks and answer should be given in 120 words.

(7) Question No. 19 related to fill up the map of world, having 5 marks.

(8) Question No. 20 related to fill up the map of India, 5 marks assigned for this question.

T . 1- Tl fahed Fe foria:-

(31) “HTAF A AT THTS AL GAA 6 S 19 G4l T G 0q AT g | Ih
TR R e sETafag it g ?

(1)¥ESTe (2) THTT < .87
(3)fareTer <t 1 seTar (4) e fex




(&) et ® & = |7 UF Tidhd F0h T2l 2 2

(1) TEmed &= (2) ST
() ey (4) Py reaforn wfem
() 9 | & &I °7 T U997 FOA g 2
(1) 7g (2) TET
(3) =T (4) ITST
() & 2011 =T STARTOMAT 2 STHATL AT H TiAadl FRefTH e STaeaT 99<d g ?
(1) 117 =xf<h (2) 382 =ITF
(3) 200 =R (4) 380 =IT<F
(T) 39T H TLh A ST T GaH ATeF THIATT o6 TFL H g ?
(1) f=me (2) T I
(3) 3= (4) Frafor 71

Choose and write the correct options.

(A) “Human geography is the synthetic study of relationship between human
societies and earth’s surface.” The above definition belongs to which

geographer?
(1) Retzel (2) Ellen C Semple
(3) Vidal la Blache (4) Carl Ritter
(B) Which one of the following is not an immigration factor?
(1)Drought prone area (2) Unemployment
(3) Pandemic (4) Medical/ Educational facilities
(C) Which one of the following is a plantation crop?
(1) Wheat (2) Rubber
(3) Gram (4) Millet

(D) According to 2011 census, the population density per kilometer in India is?
(1) 117 (2) 382
(3) 200 (4) 380



(E) The highest proportion of the total water used in the country, is in which

sector?
(1) Irrigation (2) Domestic use
(3) Industries (4) Construction work
T . 2- T T T Of i o]
(3T) ST TET ATLA Foeoeeeeeeeeen & % STl | gl g
(@) Tt e o §,0F At 997 saael § S0 $iT 97 & a< 9 9@
ATAT STAEHEAT Tl S T 0T oo, Fgd o
() FITETT T H ATHGE BT BT o, ATHTGAT 73T ¢
(F)TZAT FELUT STATUAT AT M H T oo H g
(T) AT H TTFATEE T TAH TST SCATEE LT eeeeeeeeeeees =
() AT T TEF ST T Tl qaH F2T 9% o1 g
Fill in the blanks: -
(A) Benda lives in the wilds of the................ area of central India.

(B) The rate of natural growth of population in a particular area due to
difference of birth and death in a fix time interval is called
................... rate of that area.

(C) In the Soviet Union, the collective agriculture has been named

Sttt
(D) The first complete census was conducted in India in the
L) SO
(B) oo is the largest bauxite producer state in India.
(F) India’sroad network is the ................ largest in the world.
957 . 3- Hel SISt a3y |
S El
(1) ST SreamerT (37) A8 TEITT SAM
(2) TS T IcATEA () 183 fae
(3) Tt T A GIEEILEIL]
(4) STETTA 2T () g

OREEITED BEIGEEIR



Match the followings: -

A B
(1) Life expectancy (a) Iron and steel industries
(2) Production of flowers (b) 183 days
(3) Rabi crop (c) Horticulture
(4) Basic industry (d) Wheat
(5) Main labour (e) Average age

TT . 4- T 9Teq T U FFT § I [0 :-

(D)
(2)
3)
4
)
(6)

SR %l 18 & o § 9T &0 Sl GT AT ¢ 2
TRAgT HaT (ohe TohaTehelTd o ST STTTHe hl STt g 2
TS AT &t Sttad @1 el TAHTT Sl Fgl SITar g 2
T H agelt g AT A1 et A 7 T 2

HETHT &3 | IT: TR o1l et 9Tt STt g 2

AT | AT AT G IST IcqTGH LT hid AT 8 ?

Write the answer in one word or one sentence: -

(D)
(2)
3)
4)
)
(6)

What is the place of India in the world, in terms of area?

Under which type of activities, the transport services come?
Which rail line is known as the lifeline of Siberia?

When the first national youth policy of India implemented?
What type of settlements is usually found in the plains of India?
Which one is the largest tea producing state in India?

TTH. 5- T/ o -

(D)

(2)
3)

4

e o ® oreher UAT 397 §; ™re et TP TE=ar &l <97 i
SRTT T SATTEERT IR AT SIToq AT |

ot o foea o stiasRfera ATt o &7 STt g

AT TR o 2015 H FHI9 (SohTe a7 IATHAT o o A1 aari
o]

gtefera affaat s == a9 1 gl g




(5) AT | TSR GTeash GioT ITAL AL h (99T H& | 970 AT ¢
(6) (€ WS X ATSA § < a0l T 6 o= g211.00 HieT grat g2

Write true/false

(1) Bhutan is the only country in the world who has declared gross national
happiness as the basic official measure of progress in the country.

(2) Mixed farming is practiced in underdeveloped parts of the world.

(3) Government of India has made a policy for skill development and
entrepreneurship in 2015.

(4) Dispersed settlements are usually dense populated.

(5) Most of the metallic minerals are found in the vast plains of northern
India.

(6) In broad gauge rail line, the distance between the rail track is 1.00 meter.

T 5. 6- | SFIA o TR =T FTHTIST AT 6 qiad g2
How does human geography related to other social sciences?

TI4T/Or

HTHE SIS o I ST o AT TdqTd ?

Write the names of sub-fields of human geography?

T . 7- TR AT TAq2or &l TATTEAT A ATl il @l AT ol HTh ol eu?
Write any two physical factors affecting population distribution?

TIAT/Or

ST foraeor 1 g9t I 9T IS a7 St Freaw foreu?

Write any two economic factors affecting population distribution?

T . 8- TTA Y U TTRY hTLFh (ohe ThTT TATH Tl TATAT Hid g7

How does immigration (push) and emigration (pull) factors affecting
migration?

TIAT/Or



STTEHEAT Al o Tordr Il F1ee forfam?

Write the factors responsible for population growth?

T . 9- FAAATHT TLATIOT o T & i @ &= & | 8?2

Which are the three major areas of nomadic pastoralism in the world?

AYAT/Or

g AT e wgd 82

what is called the seasonal migration?

T . 10- T 0 v iEa w8 § siax aqrsa?

What is the difference in between mixed farming and mixed crops?

TIAT/Or

TSI ST Tooil W, AT &A1 oh THIT af FA1 ol STl 82

Why does market based vegetable farming done near urban areas?

T . 11- ST | ST SA<d o ST [HeaT o FAT HIL0 g2
What are the reasons for spatial variation of population density in India?

TIAT/Or

FAT HIOT & T 1951 & 1981 % TeT 91 | o1& T F STEeAT i g
What is reason that between 1951 to 1981, the population of India grew
rapidly?

T 7. 12- AT | 9y ST aredt IrHioT afeaay & YT ot

Write the types of rural settlements in India?

TIAT/Or

T aftaet i Rrorart frfam

What are the characteristics of clustered settlement?



T F. 13- FHIH I FTAFT F 3297 oIiea?

Write the objectives of ‘Namami gange’ programme ?

AYAT/Or

T AT T e TohTE & ST FATAT ST HhaT 872

How can urban waste be made useful?

T . 14- T Ud Feah? ATIL H iq¥ ferfgu?
Write the differences between wholesale and retail market?

TIAT/Or

HEHT FIO U ATfR FHO F fqv fofem?

Write the differences between co-operative farming and collective farming?

T . 15- FATOrSTa TYET ITAT & THE AT forferm?

write down the major advantages of commercial livestock?

TIAT/Or

qHLT TR FH10 At o a2

Write down the characteristics of Mediterranean agriculture?

T %, 16- ATAT TP STAATT 2002 3t e o= e fFervary forfaa?

Write any three characteristics of Indian national water policy 2002

AYAT/Or

Aol GETEAT T GLAT F1 AALTF 57
Why is it necessary to conserve mineral resources?



T . 17- I AT 6 (A9 TG § TAHCAT T4 e gl o FAT 1L 82
What is the reason for high population density in northern plains of India?

AYAT/Or

TRHTET T &= | e ST eAT 99<d &7 107 T hiford?
What are the reasons for low population density in the Himalayan region?

T . 18- STATHIeHT o (st o T Toh1e Y Ica1a | i &l g2

How the development of technology has increased agricultural production?

TIAT/Or

ST et T8T FoFe TohTe & TSTerTe & geeqeiiT &1 o ford 9™ ffg
g e

How did the Indira Gandhi canal proved to be a boon for the desert areas of
Rajasthan?

T . 19- g & g=a § Aeferiag &1 geisu:-
(1) S&eT @
(2) e agmrET
(3) 9 ¥ et o 9
(4) T2 =7 Faitae et arar 9
(5) ToHaRT Srents &=

Show the following on the map of the world.
(1) Equator

(2) Indian ocean

(3) Perth to Sydney rail route

(4) World’s most populous country

(5) Pittsburg industrial area

AYAT/Or



T 7. 20-

(D)
(2)
3)
4
)

(D)
(2)
3)
4
)

(1)
(2)
3)
4)
)

qRe @1

THET AT

T AT T TqH
FTAA| Ud FHoTTal €90 gard
JATHT dg L

Tropic of cancer

Mediterranean Sea

Trans-Siberian rail route

Kalgoorlie and coolgardie gold mines
Panama canal

AT o AT H (75 &l 9078 -
TUaT 7=l

S[E IcTEH &

FLEAT Tad

AL HITL

AT Ud HahE 319 998

Show the following on the map of India.
Narmada river

Jute producing area

Aravalli mountains

Arabian sea

Andaman and nicobar islands.

(1)
(2)
3)
4)
)

(D)
(2)
3)
4
)

TIAT/Or

ESUT SIS TR 39 9159 12
AETGIT
AT

ZIeT ARTYR T T3T2

EEE




(1) Hazira - Jagdishpur gas pipeline.
(2) Lakshadweep

(3) Bhopal

(4) Chhota Nagpur plateau

(5) Chennai.



